
Operations with Various Base Numbers (H)

Calculate each answer. Note: 0 (zero) O (letter).

1D16F16
− F14416

44658
+ 5518

32324
− 30024

7068
× 738

963B12
+ 111A12

A99412
+ 38AB12

33324
+ 33204

F06616
× 4416

11112
× 112

41325
+ 30215

WH36)UPDHAV36 HHCE20
+ 8J3D20

GJ2620
+ HJ4720

15738
+ 54648

Z72836
+ YMOP36

123)102203

51648
+ 60638

43346
+ 5226

125258
− 34268

920F16
+ 321016
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Operations with Various Base Numbers (H) Answers

Calculate each answer. Note: 0 (zero) O (letter).

1D16F16
− F14416

E02B16

44658
+ 5518
52368

32324
− 30024

2304

7068
× 738
642428

963B12
+ 111A12

A75912

A99412
+ 38AB12
1268312

33324
+ 33204
133124

F06616
× 4416

3FDB1816

11112
× 112

1011012

41325
+ 30215
122035

WH36)UPDHAV36

Y1GN36
HHCE20

+ 8J3D20
16GG720

GJ2620
+ HJ4720
1EI6D20

15738
+ 54648

72578

Z72836
+ YMOP36
1XTQX36

123)102203

2103

51648
+ 60638
132478

43346
+ 5226
53006

125258
− 34268

70778

920F16
+ 321016

C41F16
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